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APPENDIX D Solutions to Practice Problems

19. T, = 36°C + 273 = 309 K
T, =28°C+273=301K
v = PiTa¥y _ (0998 atm(301 K1)
2R, {0.900 atm)(309 K}
20. T, = 0.00°C + 273 = 273K

T, = 30.00°C + 273 = 303 K

VihPy _ (30.0 L)(303 K)(1.00 atm)
VT, (20.0 mL){273 K)

1.66 atm

=22.0°C + 273 = 295K

100.0°C + 273 = 373K
_ VTP _ (0.224 mLY(295 K)(1.23 atm)

TP, (373 K)(1.02 atm)
=0.214mL

22, 7, = 5.0°C + 273 = 278K
T, = 2.09°C + 273 = 275K

_PTLY _ (1.30 a#mi)(275 K)(46.0 mL)
PT, {(1.52 atm)(278 K)

=39 mL )

VoThPy _ (0.644 ¥)(298 K)(32.6 kPa) _

v, {0.766.0(303 K)
= 27.0 kPa

' 224L _
24. 2.4 ol X == =
241
=1.03L
mol

224 1L
: =2281L
meft

1mol _
AL 0.0893 mol

28. Set up prob]em as a ratio.

? mol He _ 0.0226 mol He
0.865 k 0460k

Solve for mol He.

V;

23- P1=

54L
25. 0.0459 met X
26. 1.02 met X

27. 2.00 k X

2 mol He = 0:0226 mol He . ger y

0.460 ¥
= 0.0425 mol He

1 mol _
24y 0.045 mol

440 g
0.045 met X
met
1mol _
30. 0.00922 g X 2016 g 0.00457 mo!
224 L
0.00457 metx ———— = 0,102 L or 102 mL
et

29. 1.0k X

=209

Chemistry: Matter and Change

231L

1 mol _
8385 0.00426 mol

224L
Aol

32. 0.860 g — 0.205 g = 0.655 g He remaining

31. 0.416 g ¥

0.00496 ol X =0.1111L

Set up problem as a ratio.
v 19.2L

0.655g 0.860g
Solve for V.
(19.2 LY}{0.655.9)
= —_'T_—__ i
Vv 0;860,9' 146L
1000 g 1met 2241
33. 4.5 kgx ke X 28.0_gx 1
(3.81 aum){0.444)

(0.0821 ﬁ 2’1"3'(‘/)(298 ®)

=36X103L

= 6.9 X 1073 mol

42. 143 kPax 1162?33""; — 1.41 atm

PV (1.41.26m)(1.00.0)

SR (2.49@(0.0321%)

=6.90K

6.90 K — 273 = —266°C

3 L-

. (0.323.761){0.0821 ey 1265 K
a3.v="20 .
P 0.900 atrr
=781L
a4. T =20.0°C + 273 =293 K
¥-at
(0.108 oro{0.0821 gy (293 K
_ NRT _ :
P== 0.505 L
= 5,14 atm
PV (0.988 atm)(1.20 &)

as.7- 7= v
(0.0470 saoT}0.0821 ey
1.00.a¢nT

46. 117 kpﬁ—Xm = 1,15 atm

=30

T =35.1°C + 273 = 308K
_ PMY _ (1.15 atr(70.0 g/mof)(2.00 %]

RT (o.oamﬁﬁ@eo&m

=639¢g

47. T=220C+273=295K
_ MPV _ (28.0 g/mat)(1.00 atm)(0.600

RT (0.0821%"'”4—()(295 K)

=0.694 ¢
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